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1) Eight chemicai elements do not have isotopes {different forms of the same element have the same atomic
number but diffefent atomic weights). A random sample of 30 of the elements which do have isotopes showed a

- mean number of 19.63 isotopes per element and the population a standard deviation of 18.73, Estimate the true
mean number of isotopes for all elements with 90% confidence.
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2) For a certain urban area in a sample of 5 months, on average 28 mail carriers were bitten by dogs each month.
The standard deviation of the sample was 3. Find the 90% confidence interval of the true mean number of mail
carriers who are bitten by dogs each manth. Assume the variable is normally distributed.
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3) A U.S. Travel Data Center’s survey of 1500 adults found that 42% of respondents stated that they favor
historical sites as vacations, Find the 95% confidence interval of the true proportion of all adults who favor visiting

historical sites as vacations. o~
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4) A random sample of 15 snowmobiles was selected, and the lifetime (in months) of the batteries was measured.
"The variance of the sample was 8.6. Find the 90% confidence interval of the true variance.
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